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6. If the perimeter of a square is 100 cm, then side 1 i
o - . : : of the square is } b
| 2. The perimeter of the given figure 1s e (B)25 cm €
- - l (C) 20 cm (D)1 cm. @ S
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: 4 7. is the perimeter of a regular pentagon | o
| . 1 with side 2 cm. n
;\ (A)20 {B)10 (A)10 cm (B) 50 cm t
| ©B (D)25  + @ | (©5cm (D) 15 cm. @ |
» S
3 s th a of a square with side 5 cm 8. The perimeter of an equilateral triangle with
is the are ; :
] side 3 cm 18
(A)25 cm? (B) 10 cmzq (A)9 cm (B) 6 cm.
| (©125em® S @ [ (©10em (D) 12 cm. M
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s | NG correat ilr
360 cm, [ (A)8cm (B)6cm
(©)12cm (D) 16 cm
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18. If the perimeter of a hexagon i$ 36'C
length of each side will be

pe#hw’ter of the 3cm/ \3cm (A)4 cm ; (B) 6 cm
i 3cm 3em (C)8 cm ' D)7 cm. ) |
(B) 6 cm ; b 3
’ cm 3cm
. (D) 18 cm 1)
s 19. The perimeter of the adjoining 3 ¢m
*?-'L figure is 2
s 3cm
313 A boy runs 2 rounds around a square park with side Gl e L L
11 m. The total distance covered by him is (€) 42 cm (D) 4.2 cm.
(A)22m (B)44 m
£ m (DR @ 20. The perimeter of a rectangle whose lengthand 4
% breadth are 175 cm and 1 m respectwely 13{
&
—— A)2m75 B)3 m 75 cm Wi
4. What is the area of a square with side 1 cm? ke i (B) R
(C)5m (D)5 m 50 cm. (1
BA) 1 cm? (B) 10 cm?
(C) 100 cm? (D) 11 cm? (1)
m 21, The p@€rimeter of given v s
figure is fticns r
,,%e perimeter of a square park is 48 m. The area =
(A) 100 cm (B) 400 cm
(B) 12 m’ (C)50 cm (D) 180 cm.
(D) 144 m>. @
. ®




2. Find the perimeter of the following:
& »# (i) An equilateral triangle with side 7 cm.
~ (i) An isosceles triangle with equal sides
measuring 12 cm each and third side 3 cm.

(4)

4. What is the length of the frame requ
framing a painting with length 1 m 2(
breadth 75 cm?

5. Ravi wants to fence his square field with side
22 m 80 c¢m, 5 times. How much wire does he
need? (2)




- | 8. Calculate the area of the following figure:

2 cm

12 cm
10 cm

8 cm

2 cm
10 cm

(2)

10. What is the cost of tiling a floor with length
and width 20 m at the rate of ¥ 6 per sq. me
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